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General Instructions :

(i)
(ii)

(i1i)

(iv)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four
sections — A, B, C and D. '

Section A contains 10 questions of 1 mark each, which are
multiple choice type questions, Section B contains 8 questions of
2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 6 questions of 4 marks each.

There is no overall choice in the paper. However, internal choice is
provided in one question of 2 marks, three questions of 3 marks
and two questions of 4 marks. ‘

Use of calculators is not permitted.

T e
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(i)
(it)
(iii)
(iv)

(v)

gt gv7 syt & 1 - R

59 YT F 34§97 B W WX @vsl — 3, 7, § 3K § 7 i &
Gue o § UH-USF 7% ara 10 ¥97 &, o dg-fawcdt 397 & | @woe a7

879 & R0 @ 909% 2 3% #T & | @ve T ¥ 10 997 div-diT Hal &
F1as e d 6T 8 o0 @ 585 4 3% & 8 |

FT TT-TT F FE FE 768 | T 2 % a6 ww yeT 3 ofF A
T g & o 4 3F gt & g9 § R [G%eT o€ 7T
FerFeie & Y4 alT § |

‘ SECTION A
wuE 3

Question numbers 1 to 10 carry 1 mark each. For each of the Question
numbers 1 to 10, four alternative choices have been provided, of which
only one is correct. Select the correct choice.

J9T & 1 F 10 7% 5% I99 1 3% F 8 | y97 G&r 1 4 10 § 590 597 &
T =R fawey e 7T & R @ d9a v wdl B 1 Td fawey g |

The roots of the equation x? — 8x — m(@m + 3) = 0, where m is a
constant, are

(A)
(B)
(®)
(D)

m, m+ 3
—m, m+ 3
m, —(m + 3)
-m, —(m + 3)




HFT x2— 3% —m(m + 3) = 0, mmwwé,-%w%
(A) m, m+3 |
B) -m m+3

C) m, —(m+3)

D) -m, —(m+3)

2. If the common difference of an A.P. is 3, then a,, — a,, is

A 5
B) 3
© 15

(D) 20

afE T AR AN A WA SR 38, @ ay, —ay; W T

A 5
(B)

() 15
(D) 20

3. In Figure 1, O is the centre of a circle, PQ is a chord and PT is the
tangent at P. If £ POQ = 70°, then £ TPQ is equal to

Figure 1

(A) 55°
(B) 70°
(C) 45°

(D) 35°

30/1 3 P.T.O.



g 18, Og9 & &5 8 | PQUS a1 @ @l PT fag P R wef W @ |
9T £ POQ = 70° 8, @ £ TPQ sU=X &

p

7\
Q
SIHT 1

(A) 55°

B 70°

C) 45°

D) 35°

4. In Figure 2, AB and AC are tangents to the circle with centre O such
tha’p £ BAC = 40°. Then £ BOC is equal to '

B

A<

C
Figure 2

(A) 40°
(B) 50°
(C) 140°

(D) 150°

30/1 4




AT 2 H, AB aaT AC, T g9 R % O &, ﬁwﬁ%@m%am
ZBAC = 40° 8, @ £ BOC =0 #

(A)
(B)
©)
(D)

B
A<
C
5 2
40°
50°
140°
150°

The perimeter (in cm) of a square circumscribing a circle of radius a cm,

is

A)
B)
©)
(D)

8a
4a
2a

16 a

a T e A 99 & e @R T wF v a5 oAy (@@ §) @

(A)
(B)
©

- (D)

30/1

8a
4a
2a

16 a
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The radius (in c¢cm) of the largest right circular cone that can be cut out
from a cube of edge 4-2 cm is

A 42
B) 21
©) 84
D) 1-05

42%3@6@@w§m€waﬁwa§@@m§ﬁhwaﬂﬁw
(& ) 2

(A) 42
“(B) 21

©) 84
(D) 105

30/1

A tower stands vertically on the ground. From a point on the ground
which is 25 m away from the foot of the tower, the angle of elevation of .
the top of the tower is found to be 45° Then the height (in meters) of the
tower is

(A) 2542
(B) 25v3
C) 25
D) 125

B W TF TAR SERER wE d | F U g ¥, W 9ER R fg @
25 M. T 2, HAR & RER & 9T A0 45° 2, @ dR @ s=E (e §) @

A) 252

k(B) - 2543
() 2
D) 125



8. If P(g—, 4) is the mid-point of the line-segment joining the points

A6, 5) and B(-2, 3), then the value of a is

A -8

(B) 3

C) . 4
D 4

g foag P(-;l, 4),1%@34% A-6,5) T B(-2,3) & fam I W@Rve &
e-forg %\,?ﬁa?ﬂqﬁ?\ |

A) -8
(B) 3
Cc) -4
D) 4

9. If A and B are the points (- 6 7) and ( 1, - 5) respectwely, then the
distance 2AB is equal to

A) 13
(B) 26
(C) . 169
(D) 238

ofs fg A 7o B HEEE (6, 7) 3R (-1, -5) &, @ 2AB TR &

) 13
(B) 26
(C) 169
(D) 238
30/1 . - 7 ’ P.T.O.




10.

11,

3071

A card is drawn from a well-shuffled deck of 52 playing cards. The
probability that the card will not be an ace is

1
(A) ﬁ.
1
(B) 1
12
(C) 13
3
(D) 7
TS T WER § B M€ 52 T # o9 & NS H ¥ U U fAwen v | oTw
T % THRE T A @ Wi @
1
(A) 13
1
(B) 1
12
(®) 3
3
D) 1
SECTION B
@ uE §

Question numbers 11 to 18 carry 2 marks each.

Yy G 11 G 18 7% JAF T F 2 FF F

Find the value of m so that the quadratic equation mx(x — 7) + 49 = 0
has two equal roots.

foama @0 mx(x—7) +49 = 0 ¥ m &1 99 79 Fifoe Gew & gdfs
& W qA & |



12. Find hOW many two-digit numbers are divisible by 6.
TA HINT % q st areht fradt dead 6 9 fawrsa § |

13. In Figure 3, a circle touches all the four sides of a quadrilateral ABCD

whose sides are AB = 6 cm, BC = 9 cm and CD = 8 cm. Find the 1éngth
of side AD.

C

>

B
Figure 3

g 3 #, ©h g9 WGl ABCD @ wit Wi qorel & Wl wer € | @

gt AB = 6 9%, BC = 9 9l @91 CD = 8 ¥t ¥ 1 41 AD H @R 3
FHITT |

B
ST 3

14. Draw a line segment AB of length 7 cm. Using ruler and compasses

find a point P on AB such that éE _ 3

5 ~ '
7WW§W®W€ABWIWHWW%W@ AB W TH
WPWWW-—~~—@I '

30/1 P.T.O.



15. .

16.

30/1

Find the perimeter of the shaded region in Figure 4, if ABCD is a

square of side 14 cm and APB and CPD are semicircles. [Use ©t = %]

D C

- Figure 4
AFH 4 F, DEHET T F OURAN F@ S0E, A ABCD 14 T 96 W T
@i ? @91 APB 3t CPD sifgm ¥ | [n:%za?ﬁm

D C

- T 4

Two cubes each of volume 27 cm® are joined end to end to form a solid.
Find the surface area of the resulting cuboid.

OR
A cone of height 20ecm and radius of base 5cm is made up of

modelling clay. A child reshapes it in the form of a sphere. Find the
diameter of the sphere.

fﬁﬁ?ﬁ, 8 O g% & SEAd 27 59 O B, & GO ol & feliel U
39 A ST R | SR W YA & Y9 8M%d i Hifee |
rerar

wﬁawﬁa@ﬁﬁ'ﬁ2oﬁmaﬁz5waﬂwﬁwm@ﬁgm
wénwaﬁﬁsﬁﬁﬁ%wﬁwﬁmlﬁﬁwmmml

10




17, Find the value of y for which the distance between the points A(3, ~1)
and B(11, y) is 10 units.

y ® % 79 g1 @i, s fag fig A, -1) @ik B(11, y) & 9= @ gd
10 9% 2 |

18. .A»ticket is drawn at random from a bag containing tickets numbered
from 1 to 40. Find the probability that the selected ticket has a

number which is a multiple of 5.
wdd F O, e e § M W 1 40 o5 gEd sifed ¥ w Ree
ager el S g 1 wfEwa 39 ST g fTwe W sifss g 5
H PN A
SECTION C
Qg ¥
Question numbers 19 to 28 carry 3 marks each.

Yo7 G 19 G 28 9% YEF 9T & 3 SF &

19. Find the roots of the following quadratic equation :

x>~ 3v5 x+10 = 0
frafafaa o wiF F 9o i i
x?—3J5 x + 10 = 0

20. Find an A.P. whose fourth term is 9 and the sum of its sixth term and
thirteenth term is 40.

T e A g ST R dr 92 9 8 o Bt B3 9w aed W &
ATET 40 1

30/1 11 ‘ P.T.O.
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17. Find the value of y for which the distance between the points A(3, —1)
and B(11, y) is 10 units.

y ® 98 WA g @, fed fag g A, -1) oIk B, y) % @9 & gl
10 7% ¢ |

18. ‘A ticket is drawn at random from a bag containing tickets numbered
from 1 to 40. Find the probability that the selected ticket has a

number which is a multiple of 5.

w4 F Y, e R B RF W 1 ¥ 40 95 T sifem ¥, w foee
Il faet S R 1 wigsar @ s 5 oo oW fese W sifRa de 5
F O B

SECTION C
@ug v

Question numbers 19 to 28 carry 3 marks each.

TvT GEI 19 T 28 9% TAF FT F 3 IF F

19. Find the roots of the following quadratic equation :

XZ—S\/—E;X+10=O
Frefafad e Sie ¥ oo 9 HT .
x> =85 x+10 =0

20. Find an A.P. whose fourth term is 9 and the sum of its sixth term and
thirteenth term is 40.

Wm%mﬁmﬁwﬁmm9%mm®éammﬁm
AR 40 ¥ 1

30/1 | | 11 | P.T.O.



21.

30/1

In Figure 5, a triangle PQR is drawn to circumseribe a circle of radius
6 cm such that the segments QT and TR into which QR is divided by
the point of contact T, are of lengths 12 em and 9 em respectively. If
the area of APQR = 189 cm2, then find the lengths of sides PQ and
PR. ’

P

Q T R

Figure 5

SFT 53, 6 T fe a0t T g9 & W T BS PQR 39 YR gien e 2
wrave QT st TR, faH et g T o451 QR 1 faiford e 2, 9 wareett
HAEE 12 0 9o 9 ¥ € 1 A A PQR w1 8%a 189 f 9t @, o yenell PQ @
PR & raredt S S | |

12



22. Draw a pair of tangents to a circle of radius 3 cm, which are inclined
to each other at an angle of 60°.

OR

Draw a right triangle in which the sides (other than hypotenuse) are
of lengths 4 cm and 3 cm. Then construct another triangle whose

sides are 3 times the corresponding sides of the given triangle.

3o = % 99 W U T el W@ g, SoTER 60° F T WO
g

e
TS AT A SART e qemd (3l & oifafi) 4 I qwr 3 W o &)
R @ o e & @ SN e e fou gu s & W spenedt
ﬁ-zigtﬁ‘@fl | |

23. A chord of a circle of radius 14 cm subtends an angle of 120° at the
centre. Find the area of the corresponding minor segment of the circle.

[Use & = 27—2 and /3 = 1.73]
14 S 591 9100 UE g9 A B3 Sl b W 120° H H7 FaRd wA g 1 9

T FETE T ATH I HOC N [n= 2 @ 3 = 173 AR

24. An open metal bucket is in the shape of a frustum of a cone of height
21 cm with radii of its lower and upper ends as 10 ¢cm and 20 cm
- respectively. Find the cost of milk which can completely fill the bucket

at Rs. 30 per litre. [Use 7t = %]

aq ¥ S Th Gl 9@ UF F F (ous F IR i 3, P 9w 21 I @
T 9% e a9 SO fal @ fead wAeE 10 9 qar 20 9 € 1 30 % W

e ¥ 9 ¥ 30 gF W g 9 AR, A A B W w2 [n= 2 A

25. Point P(X, 4) lies on the line ‘segment joining the points A(-5, 8) and
- B(4, - 10). Find the ratio in which point P divides the line segment AB.
Also find the value of x.
g P(x, 4), fa=gait A(=5, 8) @41 B(4, — 10) &I fiaH a1t 3@m@vs W fod § |
& IO §d AN fred g P t@r@vs AB @ dledt 8 | x H A Rt 9@
FHITT | ‘

30/1 13 | P.T.O.




26. Find the area of the quadrilateral ABCD, whose vertices are A(- 3, —1),
B(-2,-4), C(4,-1) and D(3, 4).

OR ,
Find the area of the triangle formed by joining the mid-points of the
sides of the triangle whose vertices are A(2, 1), B(4, 3) and C(2, 5).
Tqds ABCD &I &3%a 31 shifee, fae sﬂS‘f A(-3, -1), B(—2 —4), C4, -1)
9 D(3, 4) ¥ |

AT
T B & wi-frg A2, 1), B4, 3) @91 C(2, 5) § | su el & wer-fawgal
F e W T 9 e & & %d 919 SN |

27. From the top of a vertical tower, the angles of depression of two cars,
in the same straight line with the base of the tower, at an instant are
found to be 45° and 60°. If the cars are 100 m apart and are on the
same side of the tower, find the height of the tower. [Use /3 = 1-73]

Th TR HAR F R W, § SR, S OAAR % SR ¥ us W @ f g %
TSI HITT, Fﬂa%w45°aar60°qrqrrqlzrﬁiaﬂﬁ%aﬁaﬁ®1ooﬁ.
g 99 7% WR % UE & ol flug ¥, @ 4R & IR wa AR |

[V3 = 1.73 wifsa ]

28. Two dice are rolled once. Find the probability of getting such numbers
on the two dice, whose product is 12.

v OR
A box contains 80 discs which are numbered from 1 to 80. If one disc

is drawn at random from the box, find the probability that it bears a
perfect square number.

amaﬁqammw1ﬁw“iﬁweﬁ%maﬁmm
FfSY, S AR 12 8 |

g
W U F 80 fems B, T W 19 80 0% WA sifRg € 1 g s U H @

g
& few Agema frell o 2, @ witew T RNT 39 e m oww qof
i g sifed @ |

30/1 14



SECTION D
. @UE g
Question numbers 29 to 34 carry 4 marks each.

597 G 29 G 34 9% JRF JIT F 4 3F &

29. Prove that the tangent at any point of a circle is perpendlcular to the
radius through the point of contact. '

frs s ff g9 & et g | wef W, of fag @ 99 ot fisr @
e

30. The first and the last terms of an A.P. are 8 and 350 respectively. If its
common difference is 9, how many terms are there and what is their

sum ?

OR
How many multiples of 4 lie between 10 and 250 ? Also find their
sum.

WWM%H@W«%HWM%8%350%1?&3@%%
9%, o o fed T8 § R ST e w@ g 2

AT

10 31X 250 & 919 4 & fore o € ? I ARSI SN |

31. A train travels 180 km at a uniform speed. If the speed had been
9 km/hour more, it would have taken 1 hour less for the same journey.
Find the speed of the train.

OR

Find the roots of the equation 1 + 1 =1 x# §, 5.
2x -3 x—5 2
T S THEHE W ¥ 180 Bl & g 99 e € 1 3t @ = 9 fysar
sfyss g, O 98 S A W 1 YT &W GHT ol | IoTe! & = {d S |
HAGT

wﬂw1+1—1x¢—5% I SIS |
2% -3 x-5

o 15 P.T.O.



32. In Figure 6, three circles each of radius 3-5 cm are drawn in such a
way that each of them touches the other two. Find the area enclosed

between these three circles (shaded region). [Use © = %2—] '

. Figure 6
WﬁTGﬁ,35ﬁﬁwﬁaﬁW§ﬁWW@ﬁW%ﬁw©W
9 gW T gal i WY X g | 3 A ga & Fw B (SmfEd) & W aued
W HT 1 (= 2 e )

3T 6

- 33. Water is flowing at the rate of 15 km/hour through a pipe of diameter
14 cm into a cuboidal pond which is 50 m long and 44 m wide. In what
time will the level of water in the pond rise by 21 cm ?

'14@ﬁramﬁmm©15ﬁﬁ/daﬁwﬁa3wqﬁrwwﬂam
¥, fraar @@ 50 | a1 G 44 W 2, 30 W @ | Reaq gwg O H o
H SR 21 9E 3¢ Smwm ?

34. The angle of elevation of the top of a vertical tower from a point on the
ground is 60°. From another point 10 m vertically above the first, its
angle of elevation is 30°. Find the height of the tower.

qf ¥ fR frg A, T FERR AR % R @ S S 60° & | T 3
fag ¥, S vee frg ¥ 10 B TR O W g, WNR % R #1 s @
30° % | WAR # F=E FE FT

30/1 ‘ 16



